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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

7-

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.
1) inevitable 2) intangible 3) unforeseeable 4) unsentimental
I don’t really think I’d have the ---------- to finish a marathon!
1) concern 2) candor 3) endurance 4) autonomy
Her marriage started to improve once her husband finally ---------- he had an anger
problem and began to take counseling,
1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function.
1) proceeds 2) requires 3) fascinates 4) conveys
Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.
1) refuge 2) remedy 3) paradox 4) vacillation
I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.
1) genuine 2) definitive 3) secretive 4) artificial
The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.
1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.
1) stabilized 2) hampered 3) diversified 4) veritied
Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.
1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we
currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs
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PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
P the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language is a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) -----—---—-- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4) in
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) is the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1

Shrinking cities have increasingly become a notable phenomenon with negative
consequences in Europe, North America, Asia, and many other parts of the world
(Berglund, 2020). The uneven spatial development leads to deprived localities and
brings forward a significant global challenge. In the United Kingdom, shrinking cities
once again hit the headlines in April 2021. For example, the Economic Statistics
Centre of Excellence reported more than 700,000 residents have left London in 2020
alone. On the one hand, the nation’s population is in the most serious decline since
World War II.

On the other hand, millions of people have moved out of cities since the pandemic
emerged in December 2019. In the United States, Decatur, Illinois, has been the third-
fastest shrinking city, whose population fell by 7.1% between 2010 and 2019. Over the
same period, Jackson, Mississippi, is the second with a population decline of 7.4%,
and Charleston, West Virginia, as the fastest-shrinking city with a population loss of
9.4%. In Europe, an international project “Enhancing liveability of small shrinking
cities through co-creation” was launched in January 2021 and implemented by an
international consortium consisting of researchers from Finland, Russia, and Germany,
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16-

17-

18-

19-

20-

focusing on the liveability and place-making in shrinking cities, as well as local,
regional, and national planning strategies of dealing with urban shrinkage in Finland,
Russia, and Germany. More than 900 cities and towns (about one-third) are shrinking
in China, most of which are in the northeast with an increasingly elderly population,
falling birth rate, and rapid decline of the proportion of young people.

According to the passage, shrinking cities have become a serious problem in all of the

following continents EXCEPT ---------- A

1) Asia 2) Africa 3) Europe 4) North America

Which of the following statements is true?

1) More than 700,000 people left London in 2020.

2) More than 700,000 people immigrated to the United Kingdom in 2020.

3) The Economic Statistics Centre of Excellence reported millions of people have
moved out of London since the pandemic emerged in December 2019.

4) Recently, the United Kingdom has been experiencing a tremendous rate of
population growth since World War II.

Which of the following is the fastest-shrinking city with a population loss of 9.4% ?

1) Columbus, Ohio 2) Jackson, Mississippi

3) Dccatur, [1linois 4) Charleston, West Virginia

The word ““launched” in paragraph 2 is similar in meaning to ---------- 4

1) explored 2) financed 3) introduced 4) recovered

Which of the following statements is true, according to the passage?

1) About one-third of the cities in Germany are shrinking.

2) More than 900 cities and towns are shrinking in Europe.

3) The majority of the shrinking cities in China are in the northeast region.

4) The northeast of Russia is experiencing falling birth rate and rapid decline of the
proportion of young people.

PASSAGE 2:

There were important cities before the Industrial Revolution: ancient Rome had an
estimated population of 1,000,000 by the year AD 100; Elizabethan .ondon numbered
about 200,000 people. Correspondingly, these cities had problems of economic and
social organization: Rome had to be supplied with water brought over considerable
distances by aqueduct (the word itself is Roman in origin), and the city developed
immense problems of traffic congestion — which unfortunately have been inherited by
the modern city two thousand years later. London by the fourteenth century had to
draw on coalfields by the River Tyne, 270 miles (430 km) away, for fuel, and on
distant countries for more specialized provisions, such as dyestuffs or spices; by the
seventeenth century it, too, was drawing water from 35 miles (56 km) away by
aqueduct. (The New River, which runs through north London, is part of it.) These
problems in turn brought forth a host of regulations for the better ordering of the city,
sometimes dealing with strangely modern problems: Rome banned chariot movement
at night to deal with the first recorded case of urban noise pollution; in London in the
fourteenth century a man was hanged for burning “sea coal” — a somewhat draconian
penalty for medieval air pollution.
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23-

24-

Furthermore, many cities in both the ancient and the medieval world were
planned, at least in the sense that their existence and their location were laid down
consciously by some ruler or some group of merchants; and among this group, a large
proportion even had formal ground plans with a strong element of geometric
regularity. In Britain the group of medieval planned towns is larger than many people
think: a small town like Baldock, on the Great North Road before it was bypassed, was
actually a creation of the Knights Templar, and the name itself is a corruption of
Baghdad; Winchelsea on the Sussex coast, and small towns in north Wales like Flint,
Conwy and Caernarfon, were all fortified towns created by Edward I in the late
thirteenth century.

Which of the following statements can be concluded from the first paragraph?

1) Ancient Rome was populated with 200,000 people.

2) Today’s traffic problem in Rome has a 2000-year root.

3) The word “aqueduct” was invented during the Industrial Revolution.

4) Today’s traffic problem in London originates in Elizabethan London.

What happened to London by the seventeenth century?

1) It had to draw on coalfields by the River Tyne.

2) It had to draw water from 270 miles (430 km) away.

3) It had to find a way to accommodate its growing population.

4) It had to depend on distant countries for provisions such as dyestuffs or spices.
The word “draconian” in paragraph 1 is similar in meaning to ---------- .

1) unexpected 2) frequent 3) legal 4) severe
Which of the following statements is true about many cities in both the ancient and the
medieval world?

1) They were laid down by some ruler or some group of merchants.

2) They had no regulations for the better ordering of the city.

3) They had by no means any geometric regularity.

4) They experienced urban noise pollution.

Which of the following cities was a creation of the Knights Templar?

1) Flint 2) Baldock 3) Winchelsea 4) Caernarfon

PASSAGE 3:

The difficulty — it is elementary but quite serious — is that there is another common
meaning of the term “regional planning” in modern usage. This other meaning
assumed prominence only during the 1930s, as the result of the great economic
depression which so seriously affected virtually all nations of the Western (non-
communist) world. It refers specifically to economic planning with a view to the
development of regions which, for one reason or another, are suffering serious
economic problems, as demonstrated by indices such as high unemployment or low
incomes in relation to the rest of the nation.

Though it has some clear interrelationships with the other meaning of “regional
planning”, it really represents a different kind of problem, demanding a different
expertise. And commonly, the “region” referred to in this other sort of planning is
quite differently designed, and is of a different size, from the “region” of the city-
region planners.



7 amio A2IE (WO« oY) gy s s ko g (gladbaio 5y (5 0 yeeli 0

27-

29-

This distinction will be discussed in more detail later, but one simple illustration
can be given here. Within Britain the northernmost part of England — including the
Northumberland and Durham coalfields, the Tyne and Tees estuaries, as well as the
northern Pennine uplands — has presented economic problems ever since the interwar
period. The former basic industries of coal mining, shipbuilding and heavy
engineering have declined; heavy unemployment and low incomes were the result in
the 1930s, and during the postwar period large parts of the area, or the whole of it,
have been designated a development area or development district.

The unit appropriate to analyzing these problems, and to providing solutions, is a
fairly large one; minimally, most people would agree that the Northumberland—
Durham industrial area would require treating as a single unit, and many would accept
that the smaller populations in the Pennines should be included for the sake of
convenience, as is in fact now done in the Northern Region Planning Council and
Board.

What is the first paragraph mainly about?

1) The great economic depression

2) The Western world in the 1930s

3) High unemployment in some countries

4) The modern usage of “regional planning”

The word “prominence” in paragraph 1 is similar in meaning to ---------- :

1) reluctance 2) abundance 3) importance 4) relevance

The underlined “it” in paragraph 2 refers to ---------- ;

1) the modern usage of “regional planning”

2) a different kind of problem

3) a different expertise

4) regional planning

The passage refers to all of the following as the northernmost part of England EXCEPT the
1) Tyne and Tees estuaries

2) northern Pennine uplands

3) Northumberland and Durham coalfields

4) isolated industrial area of west Cumberland

Where does the following sentence best fit into the passage?

But such a unit contains quite a number of separate city regions, or cities and
conurbations with their surrounding hinterlands.

1) End of paragraph 1 2) End of paragraph 2
3) End of paragraph 3 4) End of paragraph 4
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